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3. T4 40
4. TG 48
Options :
686340150481. 1
686340150482. 2

686340150483. 3
686340150484. 4

| B

Question Number : 21 Question Id : 68634038103 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YR Tfay & g =g O U=rad I &1 S B WU 6 7

1, %54 36

. w96 39
3. 354 40
4. HT=54 48

Options :

686340150481. 1

686340150482, 2

686340150483. 3
686340150484. 4

| )

Question Number : 22 Question Id : 68634038104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 61 gl 11 ¥ ffeH sife

AT T I
(TS 1) (ﬁw 1 M)
A. DMy Truth . [rrEe s
B. [The Broken Wings 1L [Efcar sl
C. [My Experiments with Truth| 11 [GRISH 9108
D. |[Exam Warriors IV. |94 i
Frafciad fdeedl § I Ugl 3R &1 99 DIl ;

1. A-IV, B-IIL. C-I. D-1II

[ ]

CA-IIL B-ILL C-L D-IV
3. AL B-1IIL C-1. D-IV
4. A-IT. B-IIIL. C-IV. D-1

Options :

686340150485. 1
686340150486. 2
686340150487. 3
686340150488. 4

Question Number : 22 Question Id : 68634038104 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 1 gl 1 ¥ e Sifo
LSl I 11
(&I &1 ATH) (F'\@T:F BT 9TH)

A DMy Truth . [FrEE T

B. [The Broken Wings 1L [Bfexr i

C. My Experiments with Troth 111, W:ﬂ-_-ITEIE

D. [Exam Warriors IV. = Aigt
FafeRad fameal § 9 et Ior &1 99+ BT :

1. A-TV. B-III. C-1. D-II
2 AL B-11, C-1, D-IV
3. A-IL B-1IL. C-1. D-IV
4. A-IL. B-IIL. C-IV. D-1
Options :
686340150485. 1

686340150486. 2
686340150487. 3



686340150488. 4

Question Number : 23 Question Id : 68634038105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
URrT: Well # ol sifa= ardl ged! YRdi A B 8 2

1. G2 3o

T2 faea
3. BT 9Y
4, A1 ERT

Options :

686340150489. 1

686340150490. 2

686340150491. 3
686340150492. 4

[ ]

Question Number : 23 Question Id : 68634038105 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Uik Wt o ol Sid- arefl ugdl YRdi o aE 2

1. 4Ld, gur

TR fawa
3. PHTIT GY
4, AT el

Options :

686340150489. 1

686340150490. 2

686340150491. 3
686340150492. 4

[ ]

Question Number : 24 Question Id : 68634038106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



14 g1 PUF [4U TN & ifi®ys AS E0 ¥ fafed § d gOv 39% BRI RS 94 3

YT A - S0 T e g 87§ gadi €

HROTR : AT G Ul & fdqyd ey gidl &

SWRIFd HYF & 3Taiep 4, 1 U T fddedl & ¥ 9ad Sugad SR &1 949 $iod |
1. ASIRR &I 91 € SR R. A ] 92l e ©

A 3R R &9 9 B, Wi R, A 1 96! 1 76| ©

ATTE AR AT

4 AT APIRTT .

| B

[F5]

Options :

686340150493. 1
686340150494. 2
686340150495. 3
686340150496. 4

Question Number : 24 Question Id : 68634038106 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 & FU R & afipyT oS U H e & T SR SUS SR RFFIH T

YT A ST dedg ea F gsdi 5 |

BRI R : ST T8 Wi § fdegd e g 8

SR T & AP 1, 9 G0 7 fdded] & ¥ 999 SUad SR &1 99 B |
1. A SRR T 9@ § SR R, A D To| TR §

A 3R R T 9@ 8. Wid R, A ©1 981 027 76| ©

AYW S AR SNA ©

4 ANTIE APTIRIAE

| B

Laa

Options :

686340150493. 1
686340150494. 2
686340150495. 3
686340150496. 4

Question Number : 25 Question Id : 68634038107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



EIE A RIER R
gmm:?ﬁﬁmﬁfaﬂwchﬁ e AR ST I 417 A= arelt It 3R uate & 9 | favar o
[

DY I : T BIA P SR [ze IR F9 9t & {9 sigd o1 Auvrgang |

SUIad HUH & 3diep H, 1 iU U fadedl § ¥ e Suged SR &1 997 $IfU |
1, BYT I RIS I &

YA AR IS SEd §

3. PUTITT S, AT PUT 11 3T B

| ]

4 PYTI IEA S, AfpTPYT I T ©

Options :

686340150497. 1
686340150498. 2
686340150499. 3
686340150500. 4

Question Number : 25 Question Id : 68634038107 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R sERkRume:

gmm:?ﬁﬁmﬁfaﬂwchﬁ die IR STTE I H 317 e+ arelt It 3R warg & &9 | fon S
[

DY I : T BIA P SR [ze IR F9 9t & {9 sigd o1 Auvrgang |

SUIad HUH & 3diep H, 1 iU U fadedl § ¥ e Suged SR &1 997 $IfU |

1, PYTI R SH 9 &
FYFTIAR I EA 3T §

3. YT IS, AP PYT 11 T ©

| ]

4 PYTI IEA S, AfpTPYT I T ©

Options :

686340150497. 1
686340150498. 2
686340150499. 3
686340150500. 4

Part B: Bioinformatics
Section Id : 686340750
Section Number : 2
Section type : Online



Mandatory or Optional : Mandatory

Number of Questions : 75

Number of Questions to be attempted : 75

Section Marks : 300

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 6863401254
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 68634038108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If the rank of matrix 4 1s 2 then the value of x is:

I 5 4

Given, 4=0 3 2

x 13 10
1.0
B L
2
3.1
4.2
Options :

686340150501. 1
686340150502. 2
686340150503. 3
686340150504. 4

Question Number : 26 Question Id : 68634038108 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe; 3MTegE 4 14Ul (¥) 2 B 1. x BT HA AT

1 5 4
a8, A=|0 3 2
x 13 10
1.0
5 1
2
3.1
4.2

Options :



686340150501. 1
686340150502. 2
686340150503. 3
686340150504. 4

Question Number : 27 Question Id : 68634038109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The two monosaccharides which differ from each other in their configuration
around a single specific carbon atom are known as:

1. Enantiomers

2

. Epimers

T

. Tautomers

4, Carbamers
Options :
686340150505. 1
686340150506. 2
686340150507. 3
686340150508. 4

Question Number : 27 Question Id : 68634038109 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&l TFHRIg S ol U gy 9 U ATy e URAT] & [d-9T9 & gR1 i
. Podd o

1. SRt
2. uftm

3. elemd

4. PRAEY

Options :

686340150505. 1
686340150506. 2
686340150507. 3
686340150508. 4

Question Number : 28 Question Id : 68634038110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Viruses are appropriately termed as:

1. Facultative extracellular parasites

[ )

. Obligate extracellular parasites

L ¥ ]

. Facultative intracellular parasites

4. Obligate intracellular parasites
Options :
686340150509. 1
686340150510. 2
686340150511. 3
686340150512. 4

Question Number : 28 Question Id : 68634038110 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[Tyl &1 THfEd 9 9 ST ol o
1. U5 (hpecicd) |1l DI T UIeiiat
2. 91e] (3{f&fiTe) §igl BIRHE Reild]
3. UfS5ep 3ih: SITRIg uReila!
4. 91 3= DIRS Y GRoiidl

Options :

686340150509. 1
686340150510. 2
686340150511. 3
686340150512. 4

Question Number : 29 Question Id : 68634038111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option for hit theory:

1. Survival curve analysed by a simple mathematical theory

| )

. Survival curve analysed by a simple chemical theory
3. Survival curve analysed by a simple biologieal theory

4. Survival curve analysed by a simple photonics theory
Options :
686340150513. 1
686340150514. 2
686340150515. 3
686340150516. 4



Question Number : 29 Question Id : 68634038111 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

f&e Rysrt & fou 9l faeed o1 9 S
1. U IR U RS gR1 STReilaal (Fdisad) a8 &7 [a%eyol
2. TP WYRU IS R gR1 Jaisad ab PI [a2asul
3. U HIYRYI &g 431+ R gR1 Faigad asp &l fazayuy
4. TP TYRY Blel-ad RGd gR1 Jaisad ab Pl a2yl

Options :

686340150513. 1
686340150514. 2
686340150515. 3
686340150516. 4

Question Number : 30 Question Id : 68634038112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following process is related to X-ray crystallography:

1. Interference

| B}

. Diffraction
3. Polarization

4, Reflection
Options :
686340150517. 1
686340150518. 2
686340150519. 3
686340150520. 4

Question Number : 30 Question Id : 68634038112 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafaa & 9 oH-O uftsar X3 e aurs! ¥ 96fid 82
1. BEIET (ScXhe-)

faad= (fEthamm)

. YATH0T (UTERIZWE)

[

5]

4, GRIaaH (Rocaer)
Options :
686340150517. 1
686340150518, 2



686340150519. 3
686340150520. 4

Question Number : 31 Question Id : 68634038113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
How many destructor(s) are allowed in a class:

1.0

[ B
=

4.3
Options :
686340150521. 1
686340150522. 2
686340150523. 3
686340150524. 4

Question Number : 31 Question Id : 68634038113 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U a1 (Fa) H fae foegaer sira &2

1.0

4.3
Options :
686340150521. 1
686340150522. 2
686340150523. 3
686340150524 4

Question Number : 32 Question Id : 68634038114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The boolean operator used in retrieving a protein found in Homo sapiens and
belongs to Insulin family from a biological database 1s:

1. AND

| ]

. OR
3. NOT

4. None
Options :



686340150525. 1
686340150526. 2
686340150527. 3
686340150528. 4

Question Number : 32 Question Id : 68634038114 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Afg e UIcH, o g/57 Sigga uaia & s ol & IR 3o ° $ae 394l 6.
P oid AP Scley 9 O W B0 ¢ df SHP 104 ol giera Jarad
(SATHER) W H BT 8. 95 &

1. AND

| B

. OR

3. NOT

4, @_5; :|_5Pf (None)
Options :
686340150525. 1
686340150526. 2
686340150527. 3
686340150528. 4

Question Number : 33 Question Id : 68634038115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A: Organic solvent such as alcohol are good protein precipitating
agents.

Reason R: Alcohol dehydrate the protein molecule by removing the water
envelope and cause precipitation.

In the light of the above statements. choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R 1s NOT the correct explanation of A

3. A1s correct but R 13 not correct

4. A is not correct but R is correct

Options :
686340150529. 1



686340150530. 2
686340150531. 3
686340150532. 4

Question Number : 33 Question Id : 68634038115 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 &1 Y AU T 8: U ATUB YT (Assertion A) P =0 H fAfEd g 0 g1
3P PRI (Reason R) FEITH|

HUFHYF A - FEFS [GAU®H, oY Tehed. =8 UicH et SRS eld el

PRUIR : Uehlod ICIH U I §d SH1aR0] Bl geldy 34 Hoididd 3R o1
EERERERERIN

SIRIFd HY & Al o, 9 3 U fae el § ¥ 99 Sugdd 3R BT 98-
SIS
1. A SR R &I He1 € SRR, A D! Hel AT &
A JRR A TE E. AT R, AP UE TRAT TR ©
3 AT R AR TSI TR ©

4 AT IR APTR TG
Options :
686340150529. 1
686340150530. 2
686340150531. 3
686340150532. 4

[ ]

Question Number : 34 Question Id : 68634038116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The immunity which comes under naturally acquired passive immunity 1s against:

A. Yellow fever

B. Chicken pox

C. Diphtheria

D. Rubella

Choose the correct answer from the options given below:

1. A and B only

L2

. B and C only
3. C and D only

4. D and A only



Options :

686340150533. 1
686340150534. 2
686340150535. 3
686340150536. 4

Question Number : 34 Question Id : 68634038116 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$2§§MJﬁm§%$mﬁh%ﬁﬁnﬁﬁm%mﬁﬁawﬁ%. GG

A Tid §ER (Jdl BIaR)
B. Fa@—diay

c. femiifamn

D. =ddl
i 40 770 faded] H O Jel 3R &1 90+ il

1. ®ad A IR B

2. HAAB AR C

3. %ad C 3R D

4. FaTAARD
Options :
686340150533. 1
686340150534. 2

686340150535. 3
686340150536. 4

Question Number : 35 Question Id : 68634038117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A: The total of all the genetic information in an organism is known as
genome of the organism

Reason R: A gene mutation involves a change in the sequence of bases of a
particular gene.

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 18 NOT the correct explanation of A
3. A is correct but R 18 not correct

4, A 1s not correct but R. is correct
Options :
686340150537. 1
686340150538. 2
686340150539. 3
686340150540. 4

Question Number : 35 Question Id : 68634038117 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-1 &1 Y fAU U 8: U ATUB Y (Assertion A) P =0 H fAfEd g 91 g1
3P PRI (Reason R) FEITH|

HIHDYT A : Teb Sild o FHE AR Ye13il &1 U1, Siig &1 i
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i

SRl Sy & el O, Hi4 iU U faeedi T ¥ 98 Sugdd It &1 99
BT

1. A SRR G U1 € IR R A &1 U AT ©

A IR R SH TE1 §. AP R A BT 98 R T8l
3. ATEI R AfrTR TSI TR ©

4 ATH IR APTR TG

[ ]



Options :

686340150537. 1
686340150538. 2
686340150539. 3
686340150540. 4

Question Number : 36 Question Id : 68634038118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A: The nature of metallic bond is not purely electrostatic.
Reason R: Generally metallic bond 1s a result of simultaneous attraction of an

clectron by two or more than two positive ions of the metal.

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

L2

. Both A and R are correct but R 1s NOT the correct explanation of A

. A is correet but R 1s not correct

L]

4. A 1s not correct but R is correct
Options :
686340150541. 1
686340150542.2
686340150543. 3
686340150544. 4

Question Number : 36 Question Id : 68634038118 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 &1 Y fAU U 8: U ATUB Y (Assertion A) P =0 H fAfEd g 1 g8R1
3P PRI (Reason R) FEITH|

B YF A : uTfad el &1 Ul [ag U J gaaciRelcs 78 gial|

SRUI R : GHG: UTad 318 U saide &1 41q & &l a1 41 9 iU
YHTARTT ST & Y0P TSNl &1 IR §

SIRIFd HY & Al o, 9 3 U fae el § ¥ 99 Sugdd 3R BT 98-
EAIE

1. A SR R &I He1 € SRR, A D! Hel AT &

2. ASRR A TE € AP R. AP Hel TRAT 81 &
3 AT AR T AR

4 AT IR APTR TG

Options :

686340150541. 1
686340150542. 2
686340150543. 3
686340150544. 4

Question Number : 37 Question Id : 68634038119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A: Data visualization refers to the graphical representation of
information and data using visual elements like maps. graphs and charts.

Reason R: To install matplotlib we can use the command "pip mstall matplotlib”

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A is correct but R 13 not correct

4. A is not correct but R is correct
Options :

686340150545. 1
686340150546. 2



686340150547. 3
686340150548. 4

Question Number : 37 Question Id : 68634038119 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

19 31 Y AU U 8: U ATUB U (Assertion A) P =0 H fAfEd g 91 G301
Iqd HRU (Reazon R) CESRE]

HBYF A : ST UIEBI0] 1 F-a2], G131 3R Se1 o1 gHRE, a1 3R
I S TR WYl & UGRT GRIITBI FRET0 (SHfioafd) 4 8|

HRUIR : matplotlib 510 T P A7 §H (A Pip install matplotlib' T WTRT
TRADA G|

SIRIF S & i 1, = AU U faeedi § 9 969 Sugdd 3wk &1 99+
FIfg|

ASRREH HEI € SRR AT TS U B

2. A SRR G T8l €. AT R. A B Hel TR 81 &
AT AfFTR G TR

4 AT TR AP R TG B

Options :

686340150545. 1
686340150546. 2
686340150547. 3
686340150548. 4

—t

fad

Question Number : 38 Question Id : 68634038120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A: Stack 1s required to support the recursion.

Reason R: 'C’' programming language does not support recursion.

In the light of the above statements. choose the most appropriate answer from the
options given below

1. Both A and R are true and R is the correct explanation of A

| ]

. Both A and R are true but R 18 NOT the correct explanation of A
3. Ais true but R 1s false

4, A iz false but R 1s true



Options :

686340150549. 1
686340150550. 2
686340150551. 3
686340150552. 4

Question Number : 38 Question Id : 68634038120 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
9 3 Y [T U 8: U MY (Assertion A) P =9 1 forfEd 8 91 ¥Ry
RESED DR (Reason R) CEGEE

HYHYT A : TR (RH2) P 949 & [0 X B g dl Blal o
BRUR : 'C' UG (HIATET) UIST §RIa 1 GUIE 8] ol

SIRIF S & i 1. = AU U faeedl § 3 98 Sugdd 3Tk &1 99+
CAIE

1. A SRR EH 981 € SRR A D! Ul oo 8

A SRR G T8l €. Al R. A BT HEl U T8l &
3. AUEI S AfFT R WS TE ©

4 AGSI RIS AP R WEI ®

Options :

686340150549. 1
686340150550. 2
686340150551. 3
686340150552. 4

[ ]

Question Number : 39 Question Id : 68634038121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: A class is defined in C++ using the keyword 'Class' followed by name
of the class.

Statement IT: The body of the class in C++. is defined mside the curly brackets({)
and not terminated by a semicolon (:) at the end.

In the hight of the above statements. choose the correct answer from the options
given below

1. Both Statement I and Statement IT are true
2. Both Statement I and Statement II are false
3. Statement I is frue and Statement IT are false

4, Statement I is false and Statement II are true
Options :
686340150553. 1
686340150554. 2
686340150555. 3
686340150556. 4

Question Number : 39 Question Id : 68634038121 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=ifel &l wa feu T &

DY : C++ H 7 & gRuIftd o33 & fou 9%d e (@1 78) W &
q15. TG & 19 &1 UanT e A g1

BYTL: C++ H I D1 8191, [k DIFD ({ ) T IRYING B1 o1t § 7T o< o
SreffaR (o) @1 wanT et fear S |

IWRIFd DY & 3fiaid 4, -id fu U fadedi & I T8l S &1 94+ PIoI:
1L BYTI ARG Td 8
2. FYTI AR I SHT AT ©
3. YT TA 5. Afp PUT I A
4. PYTI T 8. AT YT I TI B
Options :
686340150553. 1
686340150554. 2

686340150555. 3
686340150556. 4



Question Number : 40 Question Id : 68634038122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A: There is a need for naming genes. reannotating genes and proteins.
organise information and provide terminology to catalogue and retrieve
informationn.

Reason R: Uncontrolled vocabulary is developed to organize information and
provide terminology to catalogue and retrieve information.

In the light of the above statements. choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

2. Both A and R are correct but R is NOT the correct explanation of A

3. A is correct but R 1s not correct

4, A iz not correct but R is correct
Options :
686340150557. 1
686340150558. 2
686340150559. 3
686340150560. 4

Question Number : 40 Question Id : 68634038122 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



-1 &1 Y fAU U 8: U ATUB Y (Assertion A) P =0 H fAfEd g 1 g8R1
3P PRI (Reason R) FEITH|

HFHDYA A - ST ®I SrgfEd B 3R Ya1sl & gl & fom. 39d
AL, GiiAl SR UIEH] & UHea. 13 & e~ Ud earad o
YT R B HARID ¢ |

DRUTR : 131 DI aRYd B, 3¢ g B Ud 3991 Ui &
fem, eifrata wrearad faeiEa 1 7s g

SIRIFd HY & Al o, 9 3 U fae el § ¥ 99 Sugdd 3R BT 98-
EAIE

1. A SR R &I He1 € SRR, A D! Hel AT &

2. ASRR A TE € AP R. AP Hel TRAT 81 &
3 AT AR T AR

4 AT IR APTR TG

Options :

686340150557. 1
686340150558. 2
686340150559. 3
686340150560. 4

Question Number : 41 Question Id : 68634038123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1z NOT correct?

1. 61 codons corresponds to amino acids

2. 4 codons are the signals
3. 3 stop codons are UAA, UAG and UGA

4, 1 start codon 1s AAA
Options :
686340150561. 1
686340150562. 2
686340150563. 3
686340150564. 4

Question Number : 41 Question Id : 68634038123 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oTH A I HET T
61 Yare ST s ¥ Tafd g1 B
.4 9He U B B

3 9HI9% UPHE § UAA. UAG R UGA |

—

-2

LFN]

4. AAA T® URYD JHe 3 |
Options :
686340150561 1
686340150562. 2
686340150563. 3
686340150564. 4

Question Number : 42 Question Id : 68634038124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Function overloading is an example of:

—t

. Polymorphism

[ ]

. Encapsulation

. Abstraction

fad

4, Inheritance
Options :
686340150565. 1
686340150566. 2
686340150567. 3
686340150568. 4

Question Number : 42 Question Id : 68634038124 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
B SAHR (Function overloading) Ud JqleU o

1. Sg=Ual (UTaEIThe) &1

2. PEAHRT (THHIRM) T

- SFECHCTT (SEIenRUT - THeas) Tl
4, AR (gAgREN) &

Options :

686340150565. 1
686340150566. 2
686340150567. 3
686340150568. 4

faa



Question Number : 43 Question Id : 68634038125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Arrange the given steps in BLAST procedure using a hypothetical "Query’ in order
of their occurance

A Caleulate sums of match scores based on substitution matrix for the matched
“word’.

B. Find the database sequence corresponding to the best word match and extend
alignment in both directions.

C. Creation of every three residue words from the query sequence and scan them
for searching m BLAST word database.

D. Determine high scored segment above threshold.

E. Input query sequence.

Choose the correct answer from the options given below:
1.E.A.B.C.D
ZED. CAB
3. EC.AB.D

4. E.B.DA C
Options :
686340150569. 1
686340150570. 2
686340150571. 3
686340150572. 4

Question Number : 43 Question Id : 68634038125 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



BLAST(sTe) Ufthan & Usb pifed & wfauy) & waiT gry 3 7 =Ruii &t
3% "led 811 & ®H § TIaid St

A TEEHE) TR U Wsa] & (AU Hia=iie STeggEica) & SIUR IR
fHe 3ipl & T 1 IRB T Bl )

B. 95 @M are Isg o [0 977 S1ered Sf-d &1 Udl @ SR &l
o=l 4 Ty & [gxanied &1

C. B3l oA ¥ WId &7 Safy el & (HiHd $3% BLAST(SRE) 95
STETe | Wi & o 31 SdI&01 (I 1) 1

D. 3 HP & TS B! THIGUHIAIRRIES) 1 HYR &1

E. %31 (wfams) o ed & Fiay @92 &1

i fU 70 fadedl § O Tel 3Tk &1 904 Sifulu]

1.B,;A; B, €,D

2.E.D.C.A.B
3.E.C.A.B.D

4 E.B.D.A C
Options :
686340150569. 1
686340150570. 2
686340150571. 3
686340150572. 4

Question Number : 44 Question Id : 68634038126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Fasta format for sequence representation starts with ">" greater than
sign.

Statement II: Fasta format for sequence representation starts with '+ plus sign
often.

In the light of the above statements. choose the correct answer from the options
given below

1. Both Statement I and Statement I are correct

2

. Both Statement I and Statement II are incorrect

Lad

. Statement I is correct and Statement II is incorrect

4, Statement I is incorrect and Statement IT 1s correct
Options :
686340150573. 1
686340150574. 2
686340150575. 3
686340150576. 4



Question Number : 44 Question Id : 68634038126 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=ie &l Py feg MU B:

DY I (fasta) WRNY, Sl S H SifHogldd & [od sidl 6. =' g o 9R™

BT g

B 1 BT YRS, O 3 SHileafad o oy gian 8. ui: '+ &% 8 UR™

Bl gl

SWRIF PYA & AP H, Al [GU U [dhed H I ol 3R B 94+ BIoI:
LU AR IEH T §
2. HYFI SR 1 AT I §

3. PYT 1 g o, dfpd PYT 11 A ©

4. FYTI TGI8, AfbT BYT I TT &
Options :
686340150573. 1
686340150574. 2
686340150575. 3
686340150576. 4

Question Number : 45 Question Id : 68634038127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Metagenomics deals with sequencing and analysis of DNA from
organisms that can be cultured in laboratory.

Statement II: Metagenomics deals with sequencing and analysis of DNA from
organisms collected from environmental samples.

In the hight of the above statements. choose the correct answer from the options
given below

1. Both Statement I and Statement IT are correct

b2

. Both Statement I and Statement IT are mcorrect

s

. Statement I is correct and Statement IT is incorrect

4, Statement I is incorrect and Statement II is correct
Options :
686340150577. 1
686340150578. 2
686340150579. 3



686340150580. 4

Question Number : 45 Question Id : 68634038127 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=id &l Py fler MU B:

DY 1 HeTolHIHa9 § 3 oildl &b DNA @ S=HH0 SR [ vy g1 Sl
&. fore wameTen § e fovar off 9 al g

BT : DETSiAIHaY § 3 Sitd] & DNA @1 S0 H 3R ey favan &ra 6.
fores T gufaror @ ussha fvu mu gl

SWRIF BYA & AP H, Al (ST [dhedl H Y el 3t B 90 PIoIe:
1. BY I R 11 SF 94 ¢
2. PYAT AR I AT ITT &
3. DY I 5. dithd HUA I 3 ¢

4. FYT I HTT 8. AfpT BYT I TT ©
Options :
686340150577. 1
686340150578. 2
686340150579. 3
686340150580. 4

Question Number : 46 Question Id : 68634038128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct statements of the following:

A. Antibodies are fibrous proteins.

B. Keratin 1s a fibrous protein.

C. Keratin 1s a globular protein.

D. Antibodies are globular proteins.

E. Keratin 1s found in hair, wool, nails etc.

Choose the correct answer from the options given below:

1.B.D. E only

| S

A, B. Conly
3.B.C.Donly

4, A.B.C.D.E only



Options :

686340150581. 1
686340150582. 2
686340150583. 3
686340150584. 4

Question Number : 46 Question Id : 68634038128 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Foffad aodi sy g

A, TfoRel wRmgEd Ui g

B. $RIicH Ud WWgaa UicH g

C. BRI TH MATPR (AgeR) HeH g

D. Hforef "dgeR A B
E. SR1ieA 919, 3 3R ARG e 8 UTg o §

=i f&u 0 fameni | T 981 SR &1 90 B
1. %38 B, D AR E

. BAAA.B R C

3. %99 B, C 3R D

[ )

4. A.B.C.D. E (34l
Options :
686340150581. 1
686340150582. 2
686340150583, 3
686340150584, 4

Question Number : 47 Question Id : 68634038129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Correct statements are:

A. Biomformatics 1s an alternative to wet lab.

B. Bioinformatics is an complimentary to wet lab.

C. Bioinformatics is faster and cheaper than wet lab.

D. Bioinformatics 1s an integrated discipline combining inputs from multiple
branches.

E. Bioinformatics is called as dry lab.

1.B.C,D and E only

o

.C.D and E only
3.A.B.C.Dand E only

4, A. C.D and E only
Options :



686340150585. 1
686340150586. 2
686340150587. 3
686340150588. 4

Question Number : 47 Question Id : 68634038129 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fafafaa & ¥ od oy &
A, JagFAIGYH d¢ A9 1 U fase 2|
B. dc 9 BT P 3|
C. JaaIfaq= de a9 &1 S0a dig 3R T2 |

D. SIaEANaRH U Jaidhd HeE- (a9 § 9l 3 ARarsf 4 gas

(Z1YCH) I HUS D &
E. Slayanag= @1 s od Y $gl ofrd g

i< feu U fom el § & T8l Sk &1 90 Bifeu|
1. $dd B, C.D 3R E
HAAC.DIARE

[ )

3.A.B.C.D 3RE

4. HTAA. C.D3IRE
Options :
686340150585. 1
686340150586. 2
686340150587. 3
686340150588. 4

Question Number : 48 Question Id : 68634038130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST1I LISTIT
A |David Lipmann I. 3D structure of DNA
B. St} Cuiliey 1L |Credited with making fasta format
Davhoff H
. |Pearson IT1. [Former director of NCBI
D. Watson & Crick AT Credited with making first database atlas of protein
sequence and structure

Choose the correct answer from the options given below:

1. A-TV, B-III. C-IT, D-I

| )

.B- 1, C-II, D-TIT, A-TV
3. C-I. B-II. D-IV. A-III

4, A-IIL. B-IV, C-II. D-1
Options :
686340150589. 1
686340150590. 2
686340150591. 3
686340150592. 4

Question Number : 48 Question Id : 68634038130 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
= 1 S 1Y Yl 11 D1 fHer pifor

T 1 T 11
A [2fdE fegmq 1. [SITAT & 3-D TogHT
B. FFIE Sl 1L [ UREY &1 89 &1 49
C [diaw 1L [NCBI & Ud e o
. [UieH 3% H R TE1 & Ued S0l 89 Afaaaat &f
D @ iR ee |1V b

=it feu T fqoed § ¥ U5l 3R o1 90 DI

1. A-TV. B-1II. C-I1. D-I

[ ]

.B-1, C-I1, D-TII, A-TV

. C-I. B-II. D-IV. A-TII

LAy}

4. A-IT1. B-IV. C-1I, D-I
Options :
686340150589. 1
686340150590. 2
686340150591. 3
686340150592. 4



Question Number : 49 Question Id : 68634038131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A man 1s known to speak truth 4 times out of 5. He throws a dice and reports that
it 13 a four. The probability that it 15 exactly a four is:

| A

| )

oo |

O | wa

.5

8
Options :
686340150593. 1
686340150594. 2
686340150595. 3

686340150596. 4

Question Number : 49 Question Id : 68634038131 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U e 5 SR T 4§ 4 9R 9 Sieldl ¢ | 98 U Ul (S129) Bl 6. 3R
HEdl ¢ [ U8 IR 81 59 31% IR 81 &1 Witdd &

| ]

o0 | L |

W |

i2

&
Options :
686340150593. 1
686340150594. 2
686340150595. 3
686340150596. 4

Question Number : 50 Question Id : 68634038132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1



A. B. C are the first. second and third excited states of an electron respectively (as
shown in figure). ; and 4, are the wavelengths corresponding two ditferent

i A
transitions. The value of s

-~

lr'l

| un

|
L | |

=
3,28
5

36

7
Options :
686340150597. 1
686340150598. 2
686340150599. 3
686340150600. 4

4,

Question Number : 50 Question Id : 68634038132 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



4. B. 3R ¢ oaCH B HHL: TS, TE-I SR b=l Juford SawdTl § (ol i
ferzr f framan mar 8)

oy

iy 3R, 21 Fore kel 91 Wi RIS €1 5L I EA S

-

B |

b
|~

\
g, 29
7

36
7
Options :
686340150597. 1
686340150598. 2
686340150599. 3
686340150600. 4

4.

Question Number : 51 Question Id : 68634038133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Monokine 1s a biologically active substance secreted by macrophages, which
activates the T-cells and it 1s also known as:

1. Interleukine- 1
2. Interleukine- 2
3. Interleukine- 3

4. Interleukine- 4
Options :
686340150601. 1
686340150602. 2
686340150603. 3
686340150604. 4

Question Number : 51 Question Id : 68634038133 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



HiHIeTE U oid "ichd Uary 8. Wl g Y& HITLe] 9 Jifad gldl ¢ SR T -
HiRe13M 1 +ff Wfcha Har 8. 38 ST oIl &

1. ST DIE-1
2. ST DIG-2
3. ST Ig-3
4, FCICYDIG-4

Options :

686340150601. 1
686340150602. 2
686340150603. 3
686340150604. 4

Question Number : 52 Question Id : 68634038134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
DNA segment which codes for RNA which inturn may or may not code for protein
can be defined as:

1. Codon

| ]

. Genetic code
3. Gene

4. Base pairs
Options :
686340150605. 1
686340150606. 2
686340150607. 3
686340150608. 4

Question Number : 52 Question Id : 68634038134 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
SITTY PTTS Ol SR T T I DTS AT € AR T8 AR T T A1 WIS §1Y
a1 §1¢ U g 72 § s seaman v

L. °pc

2. AR He
3. of19

4. R GH

Options :
686340150605. 1
686340150606. 2



686340150607. 3
686340150608. 4

Question Number : 53 Question Id : 68634038135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
A single beam spectrophotometer measures relative light intensity of the beam:

1. after a test sample is inserted

[ ]

. before a test sample 1s inserted

%]

. before or after a test sample 1s inserted

4, before and after a test sample 15 inserted
Options :
686340150609. 1
686340150610. 2
686340150611. 3
686340150612. 4

Question Number : 53 Question Id : 68634038135 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ued diF qUih Tl GRT St ST OfEe FeHTr sl 1 1719 foar o &
Sl & T DI ST & 9y
. Si1g & A & STeH 9 gd

SiIE & YA &1 S & Ugd g1 uHld
4. St & 994 1 STe- 4 Ugd 3R ae o

Options :

686340150609. 1
686340150610. 2
686340150611. 3
686340150612. 4

[y

| ]

faa

Question Number : 54 Question Id : 68634038136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
It (14B),, =(X), then the value of Xis:

1.215

[ )
e
[ ]

- |

4,227
Options :



686340150613. 1
686340150614. 2
686340150615. 3
686340150616. 4

Question Number : 54 Question Id : 68634038136 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

af& (1.4B),, =(X), 8. A XDTAA B

1.215

[

427

3.327

4, 227
Options :
686340150613. 1
686340150614. 2
686340150615. 3
686340150616. 4

Question Number : 55 Question Id : 68634038137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Gene Ontology provides information about:

1. Cellular location. cell function. biochemical pathway

|

. 3D structure coordinates
3. Evolutionary relationship

4. Homology
Options :
686340150617. 1
686340150618. 2
686340150619. 3
686340150620. 4

Question Number : 55 Question Id : 68634038137 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i Serarat & IR B G UeH Pl 5
1. BIRIBI RUMA. D IRrT o1, Bid T8RS uy
2. 3-D W9 HEEi®
3. famraard dsy
4, ST

Options :

686340150617. 1
686340150618. 2
686340150619. 3
686340150620. 4

Question Number : 56 Question Id : 68634038138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A: Heavy metals such as arsenie. antimony and cadmium ete.. can cause
heavy metal poisoning.

Reason R: The heavy metals cause 1) Displacement of essential cation 2) Enzyme
inactivation 3) Formation of reactive oxygen species (ROS)
In the light of the above statements. choose the most appropriate answer from the

options given below

1. Both A and R are correct and R is the correct explanation of A

=]

. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4. A is not correct but R is correct
Options :
686340150621. 1
686340150622. 2
686340150623. 3
686340150624. 4

Question Number : 56 Question Id : 68634038138 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



19 31 Y AU U 8: U ATUB YA (Assertion A) P =0 H fAfEd g 1 g8R1
Iqd BRI (Reazon R) CESEE]

HYEYF A HR 47U S 3 e, TIEH! SR gy & SRl YR &1
[CRIEREIR RGN

BRUIR : YR 4T RS &l &

1. TS G0 F Held & [T &

2. USTSH Mishygs I &)

3. iy sifadto wiefis & fAaior (ros) i

SURIed By & 3ielie J, i faU Y fasedi § 9 48 Suged 3T &1 99
FifoU|

1. A SRR G T8I € IR R. A DI Te! oA 3

2. A SRR G Tl 6. i R. A B Tl IRAN el &
3. ATEI R AfFA R TS TR B

4. AR Tl g AP R TR ©

Options :

686340150621. 1
686340150622. 2
686340150623. 3
686340150624. 4

Question Number : 57 Question Id : 68634038139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Steps for computer to accept input from the keyboard:

A. Keyboard controller sends scan code for the key to the keyboard buffer
B. System software reads the scan code from the keyboard buffer

C. Key 1s pressed on the keyboard

D. System software responds to the interrupt

E. Keyboard buffer sends interrupt request to the system software

LCAEBD

-2

CAEDB
3. A.C,D,E.B

4. A.D.E.B,C
Options :
686340150625. 1
686340150626. 2



686340150627. 3
686340150628. 4

Question Number : 57 Question Id : 68634038139 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

@1 e Y HIIER P FIYE WIPR D & =0 D1 Hal PH &

A B EE FUF®. 907 (@) & TIDIe B Bias gl B Hodl e
B. ey 9itedmr, ®idis 95 4, W &8 Bl Ugdi |
C. BIFIS | g B g ATl o

D. ey AiHedur sa e &f Ut Sidl 6|
E. Bige 95 agry- (aea & Ren giredm & iodr g |

1< f4U U fas el § § 9l 3R &1 99 Bifelw:

L CA4EBD

[ ]

.C.A.E.D.B
3. AAC,D.E.B

4, AL D.E.B,C
Options :
686340150625. 1
686340150626. 2
686340150627. 3
686340150628. 4

Question Number : 58 Question Id : 68634038140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Pointer operators in "C++" are:

A, Bitwise operator (==)

B. Relational operator (<)

C. Address of operator (&)

D. Logical operator (&&)

E. The indirection operator/ Dereference operator (*)

Choose the appropriate answer from the options given below:

1. A, D only

| B

A, Bonly
3.B.Donly

4, C. E only
Options :
686340150629. 1
686340150630. 2



686340150631. 3
686340150632. 4

Question Number : 58 Question Id : 68634038140 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C++ T gigex 3mied &

A, fdearss smier (<<)

B. RA9Hd amiet (<)

C. 3T &1 U9 (&)

D. ol SMTHeR (&&)

E. Y& AU TSThH e (*)

1= fau U faeedl O § 9gl S &1 994 DIy
1. $ad A AR D
2. A A AR B
3. $ad B R D
4.%ad C SR E

Options :

686340150629. 1
686340150630. 2
686340150631. 3
686340150632. 4

Question Number : 59 Question Id : 68634038141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A: Proteins are made up of alpha ammo acids

Reason R: During denaturation. secondary and tertiary structure of proteins are
destroyed.

In the light of the above statements. choose the most appropriate answer from the
options given below

1. Both A and R are correct and R is the correct explanation of A

| B

. Both A and R are correct but R 1s NOT the correct explanation of A

. A 1s correct but R 1s not correct

L]

4. A is not correct but R is correct
Options :
686340150633. 1
686340150634. 2
686340150635. 3



686340150636. 4

Question Number : 59 Question Id : 68634038141 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

9 3 Y [T U 8: U MY (Assertion A) P =9 1 forfEd 8 91 ¥Ry
JHB PRI (Reason R) CEGEE

HYBYT A - WIS T S 35 & &1 gidt 21
BRUR : fagfaeo (A=) & SR Wdh 3 fgdioe ik gdtas

RGN R RTIRTIE

SRl Sy & el O, Ji4 U Y faeedi T 9 98 Iugdd It &1 99
BT

A SRR GHI T8l € IR R. AT Tgl e 3

2. A AR R A T8 €, AT R A T O e T @
3 ATEI R AT R TS TR B

4 AT IR APTR TG

Options :

686340150633. 1
686340150634. 2
686340150635. 3
686340150636. 4

—

Question Number : 60 Question Id : 68634038142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A: Pore size in the matrix used for gel electrophoresis ranges between 50
and 200 nm.

Reason R: Pore size of agarose gel depends on concentration of agarose.

In the light of the above statements. choose the most appropriate answer from the
options given below

1. Both A and R are true and R 1s the correct explanation of A

-2

. Both A and R are true but R 18 NOT the correct explanation of A
3. Ais true but R is false

4, A is false but R 1s true
Options :
686340150637. 1
686340150638. 2



686340150639. 3
686340150640. 4

Question Number : 60 Question Id : 68634038142 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

9 3 Y [T U 8: U MY (Assertion A) P =9 1 forfEd 8 91 ¥Ry
JHB PRI (Reason R) CEGEE

HFUHYT A : 9 SOGR BRI H UII 1 o arel e § sl &1 R
50 T 200 nm & 351 B BT B

PRUTR : TRIV old & (%51 &1 ATHR URIW &1 Gigal iR ik sl gl

SRl Sy & el O, Ji4 U Y faeedi T 9 98 Iugdd It &1 99
BT

1. A SRR &I 98l € IR R. AP Hgl R 3

A IR R I 9t E, Af5T R, A BT GET oo TEl &
3 ATEI R AT R TS TR B

4 AT IR APTR TG

Options :

686340150637. 1
686340150638. 2
686340150639. 3
686340150640. 4

| ]

Question Number : 61 Question Id : 68634038143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Various steps in FASTA alignment user input sequence through FASTA algorithm
are:

A Input sequences to be compared
B. Find the matching word of three residues in order
C. Construction of hashing table

D. Establishment of alignment between sequences
E. Identify residues with same offset values

Choose the correct answer from the options given below:
1.B,C,D,A.E
2ED.BAC
3.JA.C.E.B.D

4. C.B.A.D.E



Options :

686340150641. 1
686340150642. 2
686340150643. 3
686340150644. 4

Question Number : 61 Question Id : 68634038143 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W%@ﬂﬁaﬂaimméwwai YAl 599¢ 3FHH & i
ERUE

A. [faF (399e) 3 Hl B gor1 A

B. U1 3a=9l & 0 H fHed-s[ad Tsal &1 gal T
C. Bicard! afereT (&R Tad) S T BT (@
D. 3{ThHl & &g W@ Bl RITTA] ST

E. YHH 8- a1l 3{(PAcH I 3aLN] &1 U= &=l

i 40 70 fadedl § O el 3R &1 904 Bifig |

1.B.C.D.A.E

2.E.D.B.A. C
3.ACEBD

4 C.B.A.D.E
Options :
6863401500641. 1
686340150642. 2
686340150643. 3
6863401500644 4

Question Number : 62 Question Id : 68634038144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements:

Statement I: In regular expression for representing a hypothetical conserved
protemn motif E-B(2)-[ABC]-L. [ABC] can be interpreted as any of A. B or C could
be present in that particular position of motif.

Statement IT: In regular expression for representing a conserved protein motif E-
B(2)-[ABC]-L, [ABC] can be interpreted as any other amino acid except A, B or
C can be present in that particular position of motif.

In the light of the above statements, choose the most appropriate answer from the
options given below

1. Both Statement I and Statement IT are correct
2. Both Statement I and Statement II are incorrect
3. Statement I is correct and Statement I is incorrect

4, Statement I is incorrect and Statement II 1s correct
Options :
686340150645. 1
686340150646. 2
6863401500647. 3
686340150648. 4

Question Number : 62 Question Id : 68634038144 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

TS ey RumE:

DU 1 : U Gfad Wi g 419 E-B(2)-[ABC]-L H.[ABC] &f it
sfteafad & A, B sryar ¢ 39 favy fufa & Sofua g1 uad 81

DY 1 : U TRf&d U= HaHTd E-B(2)-[ABC]-L H .[ABC] &l Fafad
Hf¥eafdd o A, B U1 ¢ & JHaRad @i HT o7 sFH o 39 favy Rufa &
SufRd el UPpar gl

SRIFd PU P el H, 1= f3u 7 fasedi § 9 981 9k &1 994 Sifew:
1. PYA1 RIS T &
2. BYF 1 AR 11 SHT AT &
3. BYUA 19T 3. A BT 11 3 §
4. BYT Y 8. Al PUT I HA B
e 0120015, 1

686340150646. 2
686340150647. 3



686340150648. 4

Question Number : 63 Question Id : 68634038145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: The working of some detection instruments is based on fluoresence
and photographic effect.

Statement II: Ionisation 1s not used mn the working of detection mstruments.

In the light of the above statements. choose the correct answer from the options
given below

1. Both Statement [ and Statement I are correct

()

. Both Statement I and Statement I are incorrect
3. Statement I is correct and Statement II 1s incorrect
4, Statement I 15 incorrect and Statement IT is correct
Options :
686340150649. 1
686340150650. 2

686340150651. 3
686340150652. 4

Question Number : 63 Question Id : 68634038145 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T4 2 o ey T &
DY PO Giid DR dlel SUDU TPREN SR BIEHIEE THIG R SR
gIa gl
BT : Gie B aTel SUDRN 1 Al T Sra-Teor ydi =gl gl |
SIRIG PUT P el H, 1= f4u T fadedl & ¥ 98t Ik &1 997 Sifo:

1. HUT1 AR S T §
HYF1 R I ST S

3. PUTIOT . AT PYT I A '

[ ]

4. YT HTI B, AfPTFYT 1 TT ©
Options :
686340150649. 1
686340150650. 2
686340150651. 3
686340150652. 4



Question Number : 64 Question Id : 68634038146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
If on an average 2 microbes enter in a human body per minute, what is the
probability that in a given minute more than 2 microbes will enter?

1.8:32

2
—_

3.047

4. 0.27
Options :
686340150653. 1
686340150654. 2
686340150655. 3
686340150656. 4

Question Number : 64 Question Id : 68634038146 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
afe 3id ¥ ¥ et aafaa & TR 7 ufafiee 2 sham yaw o< 8. i fau
0 e ® 2 F w1er wiansi & o & Widsdl sri:

1.0.32

[ ]
—

3.047

4. 0.27
Options :
686340150653. 1
686340150654. 2
686340150655. 3
686340150656. 4

Question Number : 65 Question Id : 68634038147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fluorescent antibody (FA) test 15 very useful test for detecting:

1. Fever

| ]

. Blood clotting

. Rabies

Lad

4, Cholera
Options :
686340150657. 1
686340150658. 2



686340150659. 3
686340150660. 4

Question Number : 65 Question Id : 68634038147 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1

Ui wiiRall (FA) Sie, U gd aTHIs §id &, Sl WA 8ldl &:
1. §ER & fog
2. 390 W & forg
3. 36 & fe
4. g1 & feru

Options :

686340150657. 1
686340150658. 2
686340150659. 3
686340150660. 4

Question Number : 66 Question Id : 68634038148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The component that organises and carries out istructions that comes from either
the user or the software is known as:

1. Memory

2

. Processor

Tad

. Output Device

4. Storage Device
Options :
686340150661. 1
686340150662. 2
686340150663. 3
686340150664. 4

Question Number : 66 Question Id : 68634038148 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a8 UTd ol a1 o W] 71 St daR & FE #1 orafud dRar § 3R
=11 1 & S §. FEard o

1. OOt
2. UREER

3. H3CYC [&azy

4. TRl fgargy
Options :
686340150661. 1
686340150662. 2
686340150663. 3
6863401506064. 4

Question Number : 67 Question Id : 68634038149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Glucose and galactose are:

1. Cy-epimers

| )

. C5-epimers

[F¥]

. C3-epimers

4. C4-epimers
Options :
686340150665. 1
686340150666. 2
686340150667. 3
686340150668. 4

Question Number : 67 Question Id : 68634038149 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

@I SR TaC o o
1. C,-ufts

W
A0

4, C,TAY
Options :
686340150665. 1
686340150666. 2
686340150667. 3



686340150668. 4

Question Number : 68 Question Id : 68634038150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Monoclonal antibodies are produced by:

1. T-cells

[ ]

.B-Cells
3. RBCs

4, Plasma
Options :
686340150669. 1
686340150670. 2
686340150671. 3
686340150672. 4

Question Number : 68 Question Id : 68634038150 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TG Aol GRISTAEId Bl
1. T-HI13l
. B-BIfr@13i

3. RBCs

[

4, WihsH][
Options :
686340150669. 1
686340150670. 2
686340150671. 3
686340150672. 4

Question Number : 69 Question Id : 68634038151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Which 1s a version of Windows operating system:

1. Windows AP

-

2. Windows BP
3. Windows ZP

4, Windows XP
Options :
686340150673. 1
686340150674. 2



686340150675. 3
686340150676. 4

Question Number : 69 Question Id : 68634038151 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FrafaRed § 4 o H fa=e smRfen Ren 1 e 956 82
1. fasIa ar
2. fasIei BP
3. fasie zp
4. faseixp

Options :

686340150673. 1
686340150674. 2
686340150675. 3
686340150676. 4

Question Number : 70 Question Id : 68634038152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The experimental evidence for the rearrangement of two separate genes encoding
the V and C regions of immunoglobulin during the course of differentiation of B-
lymphocytes and production of millions of antibodies was provided by:

1. Dreyer and Bennett

[ ]

. Beadle and Tatum
3. Hozumi and Tonegawa

4, Kuby
Options :
686340150677. 1
686340150678. 2
686340150679. 3
686340150680. 4

Question Number : 70 Question Id : 68634038152 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



B P TaTSeH @1 fatla 4an SR el wicRie & o7 & IR
& V 3R C &3 B FeoE HIald &l A S o] B
@@%W%ﬁumﬁﬁmm&a & GRI W fbu MU A

1. 3R 3R e
2. §15d 3R ¢en
3. SIS SR EFTaT

4. el
Options :
686340150677. 1
686340150678. 2
686340150679. 3
686340150680. 4

Question Number : 71 Question Id : 68634038153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The non-coding segments of nucleic acid which lies between coding regions are
known as;

1. Exons

| ]

. Introns
3. Spliceosome

4. Ribosome
Options :
686340150681. 1
686340150682. 2
686340150683. 3
686340150684. 4

Question Number : 71 Question Id : 68634038153 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

eI 31T & IR-BIST GUS Sl DI & & &9 (U B &, Poald o

1. ki (THIA)
HFID (S¢)
g dtaaE

4. A
Options :

686340150681. 1
686340150682. 2

b2

L]



686340150683. 3
686340150684. 4

Question Number : 72 Question Id : 68634038154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Suppose the total memory 1s 1024 bytes and the memory is bit addressible. How
many bits address. can be used for addressing a bit in the memory?

1. 7 bits

| ]

. 9 bits
3. 10 bits

4. 13 bits
Options :
686340150685. 1
686340150686. 2
686340150687. 3
686340150688. 4

Question Number : 72 Question Id : 68634038154 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A7 wifere el BART 1024 §15¢9 & SR BAR] fae oits- ardl g1 BERI ¥ fae
DI Tod T & (ot [ fae TS &1 W o o 9@l o7

1.7 Tdeg

[

o faeyg
3. 10 faeg
1.13 facg

Options :

686340150685. 1
686340150686. 2
686340150687. 3
686340150688. 4

[

Question Number : 73 Question Id : 68634038155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Swiss model is a server for:

1. Protein Modeling (3D)

| )

. Protein Docking
3. Nucleotide Modeling (3D)

4. Nucleotide Binding
Options :
686340150689. 1
686340150690. 2
686340150691. 3
686340150692. 4

Question Number : 73 Question Id : 68634038155 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Swiss TR U a2 6. ol & U g 81
1. W AlsfeT 3p)
2. UiéE Sifd

3. gfFgiergs Hisfer (3D)

4. fFrdicgs agi=T]
Options :
686340150689. 1
686340150690 2
686340150691. 3
686340150692. 4

Question Number : 74 Question Id : 68634038156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A:The AG of hydrolysis of protein is quite negative. yet protein can be
quite stable.

Reason R: Protein hydrolysis requires large activation energy.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both A and R are true and R is the correct explanation of A
2. Both A and R are true but R 18 NOT the correct explanation of A
3. Aiis true but R s false

4, A 1z false but R 1s true
Options :
686340150693. 1
686340150694. 2
686340150695. 3
686340150696. 4

Question Number : 74 Question Id : 68634038156 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-4 &1 Y fAU U 8: U ATUB YT (Assertion A) & =0 H f6fEd 8 dl g&=1
3P PRI (Reason R) HEIH|

HUFHYF A UITH & Sy [Avau &7 ac Fdd BUNES & e 1 gid= @R
el gEd Bl
TR:W&?G@HW@%WE@W@ﬁW@?ﬁ

i

SRl Sy & el 0, Hid U e faeedl T I 9ad Iugdd 3Tk &1 95
BT

1. A IR R G U1 § SRR A &1 U AT &

2. A SRR G TEI . AP R. AP Hel TRAT 81 &
3 ATS R O R T AR

4 AT TR AMPTR TG ®

Options :

686340150693. 1
686340150694. 2
686340150695. 3
686340150696. 4




Question Number : 75 Question Id : 68634038157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The correct sequence in f-Oxidation of fatty acids 1s:

A. Acyl CoA

B. Fatty acids

C. A? trans-enoyl CoA
D. P -ketoacyl CoA

E. p- Hydroxyacyl CoA

Choose the correct answer from the options given below:

L. ABRCDE

{ B

.B.C.D.A.E
3.B.A.C.E.D

4. A.C. D, B.E
Options :
686340150697. 1
686340150698. 2
686340150699. 3
686340150700. 4

Question Number : 75 Question Id : 68634038157 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 3 & p-STaTERU & U5 3T el 3T &

A TE CoA
B. 9O 35

C. A ZRI 1T CoA
D. B-BICTZRT CoA

E. p- SIS cIaIURIA CoA
=14 f4U 7T fas el § ¥ 951 3R &1 94 Diiuld|

LA ECDE

12

B G D ALE
3.3 BACED

4.A.C.D.B.E
Options :
686340150697. 1
686340150698. 2



686340150699. 3
686340150700. 4

Question Number : 76 Question Id : 68634038158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements:

Statement [: Pyrimidine nucleotide are Cytosine and Thymine,

Statement II: Purine & Pyrimidine nucleotide biosynthesis are coordinately
regulated.

In the light of the above statements. choose the most approprate answer from the
options given below

1. Both Statement I and Statement II are correct

12

. Both Statement I and Statement II are incorrect
3. Statement [ is correct and Statement IT is incorrect
4. Statement I is incorrect and Statement I is correct
Options :
686340150701. 1
686340150702. 2

686340150703. 3
686340150704 4

Question Number : 76 Question Id : 68634038158 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

EIE R TR ATl S
FUA 1 RIS faasies sy 6. TEcF 3R UgdiE

HYT1 : G SR RIS FfRTGIeEs B Sadweyu gaf-ad &0 4
fafafird giar 81

JRIFI HYA & Hld H. A [Su U [deed] § I el IR & 994 Py
1. YT SR 11 S G ©
2 FYF 1 AR I AT 3 TT &

3. PUTITTE, AP PUT 11 3T §

4. BYTI HTT B, AfbT dYT I 9T &
Options :
686340150701. 1
686340150702. 2
686340150703. 3
686340150704. 4



Question Number : 77 Question Id : 68634038159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements:

Statement I: Reverse transcriptase from HIV has Ribonuclease activity
Statement II: Reverse transeriptase from HIV does not have a 3 '-5" exonuclease
activity.

In the light of the above statements. choose the correct answer from the options
given below

1. Both Statement I and Statement II are true

| )

. Both Statement I and Statement II are false
3. Statement I 1s true and Statement II is false

4, Statement I is false and Statement IT i1s true
Options :
686340150705. 1
686340150706. 2
686340150707. 3
686340150708. 4

Question Number : 77 Question Id : 68634038159 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 < P fau e &
DY HIV I [d0H TSP 4 Jgai=g/aaus fdanfdle gidl ¢ |
DY 1 : HIV ¥ faaiiH gifepps 8 3' - 5 vai=gfaaus febariafd =gl gidi|
SIRIFd B & ATeiie 8, A= QU T fasedl & I el 3ok 31 997 S Ifofe:
1. DY AR 11 GH T §
2. BYF 1 AR 11 GHT ST &

3. PYTI IO e, AT PYT I 3EA '

4. YT HTT B, AP FYT I I ©
Options :
686340150705. 1
686340150706. 2
686340150707. 3
686340150708. 4

Question Number : 78 Question Id : 68634038160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT

LISTI LISTII
H
+ |
A [Serine L HMHN—C—CO0
‘ |
H
CH,OH
o
B. |Cysteine II. H,N — C—CO0
|
H
H
+ |
C. |Ghveine 1 H3N — C —CO0"
|
H
CH,5H
o
D. |Alanine IV H;:N — C —COO"
) |
H

Choose the correct answer from the options given below:

1. D-LI. A-IV. C-III. B-II

-J

ATV, B-IIL C-IIIL D-1
3. A-IL. B-IV. C-1. D-III

4, D-IV. A-ITI. C-II, B-I
Options :
686340150709. 1
686340150710. 2
686340150711. 3
686340150712. 4

Question Number : 78 Question Id : 68634038160 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 1 S 1Y Yl 11 D1 fHeH Pifse

T il
3|
Lo
A [ERE L H;N — C —COO™
‘ |
H
CH,OH
+ |
B [ I H,;N — C —COO"
|
H
H
+
C. [aEdH L H,N — C —CO0"
|
H
CTLSH
. + |
D. [geHH IV.JH,N — C —COO~
) |
H

= fau e fae el § § It 3 &1 9u- Bifet:
1. D-L A-IV. C-III, B-II
2. A-IV, B-1I. C-III, D-I
3. A-IL B-IV. C-1. D-III

4, D-IV, A-II1, C-I1. B-1
Options :
686340150709. 1
686340150710. 2
686340150711. 3
686340150712. 4

Question Number : 79 Question Id : 68634038161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements: one is labelled as Assertion A and the other 1s
labelled as Reason R

Assertion A: Nuclear reactor operations involve elaborate safety measures like
reprocessing the spent fuel.

Reason R: Special care is required for treatment of radioactive wastes as these are
very hazardous and should be converted into less active and short lived material.

In the light of the above statements. choose the correct answer from the options
given below:

1. Both A and R are correct and R is the correct explanation of A
2. Both A and R are correct but R 1s NOT the correct explanation of A
3. A is correct but R 1s not correct

4, A iz not correct but R is correct
Options :
686340150713. 1
686340150714. 2
686340150715. 3
686340150716. 4

Question Number : 79 Question Id : 68634038161 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 &1 Y fAU U 8: U SATUB Y (Assertion A) P =0 H f6fEd 8 1 g&R1
3P PRI (Reason R) HEIH|

SHHYF A : TRHT] YTeHaisl & aa T 4§ R H a8 7T (99 (64
M) 587 B GAHENYT B oI fa¥gd gRaf Sur JiHfed g

PRUNR : o0 Ty Ayl & IUER & [0 99w g@yE! 1 srawgsdr
eIdl &, F0ifer 3 ufRyaraiiis @R 8id © IR U8 iy &f &9 9ty
R H oiia 3afd are uerdf & ago &1 g dr gidl &

SR HY- D el o, 9 3 U fae el § ¥ 969 Sugdd SR &1 95
EAIE

1. A SR R &I HE1 € SRR, A D! He| URHAT &

A SRR GH T8 & AP R A BT HEl A TRl B
3 AT R AfpT R TET TR ®
4 AT IR AfPTR TG

2);)623](;?5:0713.1

686340150714. 2
686340150715. 3

[ ]



686340150716. 4

Question Number : 80 Question Id : 68634038162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements: one is labelled as Assertion A and the other is
labelled as Reason R

Assertion A: The resolution of random scan is higher than raster scan.

Reason R: In raster scan. solid pattern is easy to fill.
In the light of the above statements., choose the most appropriate answer from the
options given below

1. Both Statement I and Statement II are correct

[ ]

. Both Statement I and Statement II are incorrect

. Statement I is correct and Statement IT is incorrect

fLad

4, Statement I 1s incorrect and Statement II i1s correct
Options :
686340150717. 1
686340150718. 2
686340150719. 3
686340150720. 4

Question Number : 80 Question Id : 68634038162 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

=ifd &l Pa fu U &

DY IRCR WA &I GO H Tl (38H) T & RelegH 4 sidl

gl

BU T : AL T T 319 Ue WA A E

SRIF U D TP H, i [0 U f[dpedl § Y ol IR D1 947 DIuIe:
1. PYF1 AR I §
2. BYF I SR I GHI 31 9H §

3. PYUT 1 I &, Al HUT 11 T ©

4. BYT I HTI 8. AfPTFYT 1 T ©
Options :
686340150717. 1
686340150718. 2
686340150719. 3
686340150720. 4



Question Number : 81 Question Id : 68634038163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements:

Statement I: In BLAST search. statistical significance of the output is provided by
statistical indicator knovn as E-value (expectation value)

Statement IT: The E-value (expectation value) in BLAST is related to P value,
where P is the probability that HSP alignment is a result of random chance.

In the light of the above statements. choose the correct answer from the options
given below

1. Both Statement I and Statement I are true

-2

. Both Statement I and Statement IT are false
3. Statement I is true and Statement II is false

4, Statement I is false and Statement II 15 true
Options :
686340150721. 1
686340150722. 2
686340150723. 3
686340150724. 4

Question Number : 81 Question Id : 68634038163 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST A EACIUR

DY 1 : KIRE Wi H TATE (Output) BT FiRTHY T, HifTD1g I gRI
&1 fohg1 Sl 8. 15 3-aed (SUféd ged) & &9 4 &H SIal o |

HYUA 1 : BLAST H 5-de (SUT&d 4ew), P-01H Y H&led §. el P &1 Wikl
HSP TR@U TTef=5e HUIG] &1 GRUMH § |

SRIF FYF & AP 1, Aid (ST T [dHed] § I el Stk F1 99 B IoIg:
1. BRI 9d 8
2. PYF T AR AT 3TT &

3. PYT 1 I &, Al DUT 11 39T &

4. YT HTTE. AP FYT I TT &
Options :
686340150721. 1
686340150722. 2
686340150723. 3
686340150724. 4



Question Number : 82 Question Id : 68634038164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST II
A |Alignment mvolving only 2 sequences L. Multiplessquencealipnmens
(MSA)
B. Alighment mvolving small or conserved portion 1. [Global alignment
of sequences
C. |Alignment involving 3 or more sequences 1. Paiveise sequshos aligument

(PSA)

D Alignment involving entire sequences or end to

s : I'V. |Local alignment
end alignment =

Choose the correct answer from the options given below:

1. C-L D-III. B-IV. A-II

[ B

CA-TIIL B-IV, C-1. D-IIL
3. B-1II. C- 1. D-II. A-IV

4, A-TV, B-1I. C-1. D-III
Options :
686340150725. 1
686340150726. 2
686340150727. 3
686340150728. 4

Question Number : 82 Question Id : 68634038164 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T 1% 1y Il 11 B e pifor

T 1 @II
A [RETH ST ¢ pA FfEfed sl | L 10 9 rr\;sf)i (o
T3gU] H S H & @I Hlad HET .
B. e 21 1. [Gf% €0
c gfﬂ”fﬁ:‘m&maﬂﬂj LI T & T (QRATE) ST TR
EU A GH A gl db D | .
D. | peery i 21 IV, [Rg S

e

o 30 770 fadedl H 9 9el 3w &1 904 Sy |

1. C- L, D-III. B-IV. A-II

2. A-TI0, B-TIV, C- 1, D-I1,

3. B-1II, C-1. D-II, A-IV

4. A-TV. B-1I. C-I, D-I1I



Options :

686340150725. 1
686340150726. 2
686340150727. 3
686340150728. 4

Question Number : 83 Question Id : 68634038165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let ¥y. v, be two linearly independent solutions of the differential equation

yy' -(y1)? =0.

Then Cyy; + Cyy;. where C1.C; are constants is a solution of this differential
equation for:

1.C;=C;=0only
2.C;=0o0r C,=0
3. Novalueof C; . C5

4. Allreal C;.C,
Options :
686340150729. 1
686340150730. 2
686340150731. 3
686340150732. 4

Question Number : 83 Question Id : 68634038165 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e sfahd TSRO yy!! - (y1)? =0 Hy,. y, AES G 5T 6. 7 -
Cyyy + Caya. SEI C1.C, 59 SaDd FHIHR0 & &R &
1.®aAC;=C;=0
2.6=0ioF 12,20
3.C. C, P fpdl i am & forg
4. g grdfdd ¢, .,

Options :

686340150729. 1
686340150730. 2
686340150731. 3
686340150732. 4



Question Number : 84 Question Id : 68634038166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s not a hydrophobic amino acid?

1. Glycine

| )

. Proline
3. Threonine

4, Alanine
Options :
686340150733. 1
686340150734. 2
686340150735. 3
686340150736. 4

Question Number : 84 Question Id : 68634038166 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Frafafaa & 9 o= Safaid s o 78 82
1. TS
2. Ui
3. dieiA
4. QeI

Options :

686340150733. 1
686340150734. 2
686340150735. 3
686340150736. 4

Question Number : 85 Question Id : 68634038167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The autoimmune disease that produces antibodies against antibodies. like I,M-1,G

complex is:

1. Multiple sclerosis (MS)

| B

. Rheumatoid Arthritis (RA)
3. Hashimoto's Thyroiditis

4. Type-1 Diabetes Mellitus
Options :
686340150737. 1
686340150738. 2



686340150739. 3
686340150740. 4

Question Number : 85 Question Id : 68634038167 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T WciRef I, o 1,M-1,G Ji09y S8 wicRié & faog wiirall Saw 81d &
1. BfecTe THoRIR (MS)

[ )

FHelgs amieieg (ra)
gl usRisfsfed
4. 2130 1 SEfadS Hagey

Options :

686340150737 1
686340150738. 2
686340150739. 3
686340150740. 4

L]

Question Number : 86 Question Id : 68634038168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
5 -BU (5-bromouracil) is used in chemotherapy of viruses and cancer, because-

1. GC pair converts into a G:BU pair which in term becomes an AT pair.

| )

. AT pair converts into a A:BU pair which in turn becomes an GC pair

3. AT pair converts into A:BU pair which becomes AT pair

-

. Both (1) and (2) are true
Options :

686340150741. 1
686340150742. 2

686340150743. 3

686340150744. 4

Question Number : 86 Question Id : 68634038168 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



5 -BU (5-SHR ) s &R SR &1 SHeRdl & wai fdar o1 6.
o

[

.GC T, G : BU W ¥ ulvafdd 81 ol & Sl 18 ¥ Ud AT 70 & ofldl &

[

AT M, A : BU g H URafdd 81 &ra1 3. ol 918 & U GC g7 & ol §

3. AT QW A : BU g™ ¥ gikafdd 81 o g, off d1& H AT Z7 & oIl o |
4.(1) IR ) IATgT &I

Options :

686340150741. 1
686340150742. 2
686340150743. 3
686340150744. 4

Question Number : 87 Question Id : 68634038169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Microorganisms associated with fermented milk 1s:

1. Xeroderma pigmentosum

[ ]

. Streptococcus lactis

LA

. Aspergillus fumigatus

4. Epidermophyton floccosum
Options :
686340150745. 1
686340150746. 2
686340150747. 3
686340150748. 4

Question Number : 87 Question Id : 68634038169 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fepfoad g § Teifid geaeia
1. oivIsHl foerag

I

. &UIBIPY Ty

. UERIorery wEiiey

4. UIGHIBIZEIT Felldiad
Options :
686340150745 1
686340150746. 2
686340150747. 3
686340150748. 4

[#5]




Question Number : 88 Question Id : 68634038170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Shift + F11, shorteut key is used for:

1. Insert a new worksheet in MS Excel

| B

. Delete the worlsheet in MS Excel

Caa

. Update the worksheet in MS Excel

4, Insert a row in MS Excel
Options :
686340150749. 1
686340150750. 2
686340150751. 3
686340150752. 4

Question Number : 88 Question Id : 68634038170 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Shift +F11, Y e e & foro wam fem srar 2|
. MS Td § U U HT9AS (@H3e) i vy
. MS Tedd § Hriuas &1 geH (fefie)

—

-

. MS Ued H SruFd 1 guR

4. MS Te8d ¥ 75 Ufad (Row) B WGP &
Options :
686340150749, 1
686340150750. 2
686340150751 3
686340150752. 4

T

Question Number : 89 Question Id : 68634038171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
How many parameters does a default constructor requires?

1.0

[ ]
=

4.3
Options :
686340150753. 1
686340150754. 2



686340150755. 3
686340150756. 4

Question Number : 89 Question Id : 68634038171 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U [Shice Figac @l fard- HI9aUS] &1 ATEITSHdl gkl 57

1.7

4.3
Options :
686340150753. 1
686340150754. 2
686340150755. 3
686340150756. 4

Question Number : 90 Question Id : 68634038172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
CMY color model is generally used for:

1. Color CRT monitor

| )

. TV Color system
3. Color Printing

4. Color Protection System
Options :
686340150757. 1
686340150758. 2
686340150759. 3
686340150760. 4

Question Number : 90 Question Id : 68634038172 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

CMY FUIYRY (R TTSa) JIHIa: YA faar Sl 8
1. HER CRT HHEI & AU

TV SR ey & fau

.o fUfdr & oy

4, HER YISie=F f¥EeH o forw

Options :

| ]

[ %]



686340150757. 1
686340150758. 2
686340150759. 3
686340150760. 4

Question Number : 91 Question Id : 68634038173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Full form of BLAST is:

1. Biological Local Analysis Search Tool

-2

. Biomolecular Local and Sequence Tool

L]

. Basic Local Analysis Sequence Tool

4. Basic Local Alignment Search Tool
Options :
686340150761. 1
686340150762. 2
686340150763. 3
686340150764. 4

Question Number : 91 Question Id : 68634038173 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
BLAST @[ T-d‘%ijd (cdl4®) <=4 %’

1. SRISIfoid Tidd UHaRed | o
3R1% ded oy diadd ¢
4. ST TiHd Targhe 99 oo

Options :

686340150761. 1
686340150762. 2
686340150763. 3
686340150764. 4

I

5]

Question Number : 92 Question Id : 68634038174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which 1s not a multimedia application?

1. Skype

| )

. You tube
3. MS Teams

4, MS Outlook
Options :
686340150765. 1
686340150766. 2
686340150767. 3
686340150768. 4

Question Number : 92 Question Id : 68634038174 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

$H 9 I U At Tedleher T8l &2
1. ¥pIgH
2. 49
3. UHUY 2Ry
4, TUTH H3TD

Options :

686340150765. 1
686340150766. 2
686340150767. 3
686340150768. 4

Question Number : 93 Question Id : 68634038175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LIST I Enzymes LIST II Reactions
Al Glveeraldehyde-3-phosphate | - P N—
dehydrogenase E
B. [Lactate dehydrogenase I G_l}f:ealdeh}-'de—S—phoshate S s
S bisphoshoglycerate
C. [Pvruvate dehvdrogenase complex 111 |o-ketoglutarate — Succinvl CoA
D. |u-ketoglutarate dehyvdrogenase complex | IV, [Pyruvate — Acetyvl CoA

Choose the correct answer from the options given below:

1. A- 1, B-1I. C-III. D-IV

| )

CA-IL B- I, C-IV, D-III
3. A-TII, B- 1V, C-1I1, D-1

4. A- TV, B-11I. C-I. D-II
Options :
686340150769. 1
686340150770. 2
686340150771. 3
686340150772. 4

Question Number : 93 Question Id : 68634038175 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
e 1 S 1Yy il 11 o e Pifs)

Gl T 1T
CIEL) (fufspam

A [fEEeSgEs-3-hIEhd I [arsede — e

e s g e MTERITSER 5-3-hiehe — 13-
B. C‘, I] == L= - Ty ¥

e SRl ERCR ISR
C. [dgEde SiErEslioy b 111 |o-Plerde<e — GFARe CoA
D. |o PIRITCIE SREolvHe dIFad | IV, [I5Ede — TR CoA

1 fau U faw el § § 9ol 3R &1 98- i

1. A-1 B-1I. C-II1. D-IV
2 A-TI, B- 1. C-IV. D-II1
3. A-TIL. B- IV, C-II, D-1

4, A- TV, B-11I. C-I. D-II
Options :
686340150769. 1
686340150770. 2
686340150771. 3
686340150772. 4




Question Number : 94 Question Id : 68634038176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The advantages of double spectrophotometer over the use of
single spectrophotometer measurements are:

A, Measurements are easier

B. Measurements are more stable

C. Larger dynamic range

D. Optically simpler and more compact
E. More practicality

1. Aand C only

| )

. Aand B only
3.A.B.Cand D only

4. AB.C.DandE
Options :
686340150773. 1
686340150774. 2
686340150775. 3
686340150776. 4

Question Number : 94 Question Id : 68634038176 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

THq quichHATd! (R Tagiiex) ST Jba Siet auisHATd! & ITaiiid &

A, HIO EH BT

B. {194 3fU& RR A 1

C. 9% Tdeiid WaR|

D. Ef¥Ta (3P 9 3 oMM SR e ded (G|
E. (%P Wi |

= feu Ty faeedl & 8 Hel 3R &1 =99+ SIfg:
1. %0 A R C

Had A JRB

3. PaTA.B.CIRD

[ ]

4. A.B.C.D3RE @
Options :
686340150773. 1
686340150774. 2
686340150775. 3
686340150776. 4



Question Number : 95 Question Id : 68634038177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List II

LISTI LISTIT
Application laver] I [TCP
Transport layer | II. JALOHA
[Network layer | IIL [P
Datalink laver IV. HTTP

REE

Choose the correct answer from the options given below:

1. A-TII. B-II, C-IV. D-I

-J

CA-IB-1I1L C-I1. D-IV
3 A-TV.B-1. C-1II. D-11

4, A-TV. B-1I. C-III. D-1
Options :
686340150777. 1
686340150778. 2
686340150779. 3
686340150780. 4

Question Number : 95 Question Id : 68634038177 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

el 1 1Y Gl 11 o1 fief S
Tt 1 T 1T

A [TidId wd (@) I [Tep

B. e 1id IL [ALOHA

C. Head 9id L [P

D. [SeTidi TR V. [HTTP

e fau e fae el O 9 95l 3R &1 994 SIfGw:
1. A-TIL, B-1I. C-IV. D-1
2. A-1, B-1II, C-II, D-IV
3.A-TV. B-1. C-II1. D-II

4. A- TV, B-11. C-IIL. D-I
Options :
686340150777. 1
686340150778. 2
686340150779. 3
686340150780. 4



Question Number : 96 Question Id : 68634038178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Correct statements are:

A. Mbolecular docking is interaction prediction between ligand and ligand.

B. Homology modeling is modeling 3-D structure of proteins using structures
available in databases (Homologous structures).

. Sequence alignment 1s a very important step in Homology modelling.

. Aspartate and glutamate have positively charged R groups.

. Lysine, arginine and histidine have positively charged R groups.

el

1. A, B. Cand D only

[

. B, C and E only
3.A.B.C.Dand E only

4.C.D and E only
Options :
686340150781. 1
686340150782. 2
686340150783. 3
686340150784. 4

Question Number : 96 Question Id : 68634038178 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFafafaad gl sy &

A 3iUge Siid, s 3R fors & &9 IR a1 &1 4@ 91 &

B. 3% (Gl Hrsfer, Serey o Jucie! Y9131 &1 Judn| &,
UIEH P 3-D W1 &1 A1 HAT 3

C. BIHIlof ATSfeiT H, argepn TR, §gd HeayU TRUI 8

D. THIce 3R e § ¢=afid R-99E siar g

E. Agd, 36 SR RRESH 1 e=1ai¥d R-99g Sl ¢

Oy

1= fau U faeedi O § 9gl SR &1 994 DIy
1. BAA A, B.C IR D

HAAB. C ARE

3.A.B.C.D.E &4

4.%ad C.D ARE
Options :
686340150781. 1
686340150782. 2
686340150783. 3

[ ]



686340150784. 4

Question Number : 97 Question Id : 68634038179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
The mtegrating factor for differential equation (2x log x — x3)dv + 2y dx = 0 1s:

X
A

1. x

| B
|

4. x
Options :
686340150785. 1
686340150786. 2
686340150787. 3
686340150788. 4

Question Number : 97 Question Id : 68634038179 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTH A FHIDRT (2x log x — xy)dy + 2y dx = 0 P [T FHIGEH T[0T &

2
&

Tise

I
|

4, x
Options :
686340150785. 1
686340150786. 2
686340150787. 3
686340150788. 4

Question Number : 98 Question Id : 68634038180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The DNA with left handed double helical structure (screw sense) is:

1. ADNA

| )

.B DNA
3. Y DNA

4, ZDNA
Options :
686340150789. 1
686340150790. 2
686340150791. 3
686340150792. 4

Question Number : 98 Question Id : 68634038180 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 ad (d=are g TS ST S 6

1. ADNA
2.BDNA
3. YDNA

4. ZDNA
Options :
686340150789. 1
686340150790. 2
686340150791. 3
686340150792. 4

Question Number : 99 Question Id : 68634038181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

Correct Marks : 4 Wrong Marks : 1
Denitrifiction. in Nitrogen cycle 1s:

1. It 1s the demination of amino acids by microorganims.

[ )

It 1s the reduction of nitrates to gaseous nitrogen by microorganisms.

L]

It 18 the oxidation of Ammonia to nitrate by microorganisms.

4. It 1s oxidation of Nitrite to Nitrate by microorganisms.
Options :
686340150793. 1
686340150794. 2
686340150795. 3
686340150796. 4

Question Number : 99 Question Id : 68634038181 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TEgIST 7 § fargdiasur e
1. T8 geAsial gRT S 3 o1 Shamgag B
2, U8 YEHAOIGl GRT AT5¢ ey Pl TR AIge o § 39 8|
3. U8 YeHsial gRT SHEI- B g H Saiieiu g |
4, T8 Y&AGIal R ATSCISE B Agec J STaIau 5l

Options :

686340150793. 1
686340150794. 2
686340150795. 3
686340150796. 4

Question Number : 100 Question Id : 68634038182 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
C++ programing language is a type of:

1. Object oriented language

| )

. Functional language
3. Procedural language

4. Seripting language
Options :
686340150797. 1
686340150798. 2
686340150799. 3
686340150800. 4

Question Number : 100 Question Id : 68634038182 Question Type : MCQ Option Shuffling : No Is Question Mandatory
: No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

C+H+ UMM YN TG PR & &
1. 3if¥ereg Hre
2. BIIES U
3. UidfhaTete T
4. TEpIDIT WSy

Options :

686340150797. 1
686340150798. 2
686340150799. 3
686340150800. 4



